Xt 2 (MSDS)

Y,
K]
o)
KU
O

g

.l

SStNSd MZEIIA FE

1.

(Potassium Cyanide)

i

Ol
<0
({0

et A

H
00

HZ2 d1

ulo

00
ol

-

pdl
ok

0o
3l

)

60

H
00

MZ2 21

HZ2l At

i
o8

%
ol

00

H
00

ol

o}

00

<

ok

\ 00

)

)

60

o

iy
RO

Ju
M0

- OClF=4A2

3| AHH

AN BF A2 I4(L3BS)

1 02-727-9494

15181 5

X0
b0
OF

X0
o

Ok

Uk
[

o0

D FE1
D RE2

=
)
70
ur
70
]

al
o
70
ur
70
]

D RE1
D RE1

70

Ok

70
I
X0

3+

70
I

70

Ok
R0
o)
X0
<
X0
ol

00

1ol
700
IH

un
0

il
0

100
Ok

10f
<

1|7
100
oF

Ok

00

0l

H410 EJ1Hel Skl 2

1]
K
K
0

gt
=]

P262 =,

Mol WAL,

P270 Ol MISS AISE Mole =AU,

p271

=
=

A2

[



Ju

2O &
P301+P310 &AL

p2s4

(AN ZES E2AI2.

S
=

INI=IE=)

=
=

™

01
F

110
o[
10f

—_ =

0l

tH

P302+P352 II| 01
P304+P340

FAIR .

o

RF

ol
&0
ol

S

3

Al

NG
P310

=
=

o
il

0}

ol
K

Ju
o

~
[0

1ol

£ GHAIL.

>3
<
no
000

HUAIL.
&

=

ol
ol

P330

GHAI2.

g & NH

0 CHAL AF

Al

KIr

ou
Ll

Ol
U

(]
-

==
[l

P361+P364 <

P391

A2

ol

ol
0K
Ll
I+

FAIR .

P501 HIJI= Ztelgol SAIE W et Wes £ 20|

NE

£ HJIGtAIZ.

D

Y

H

=

=
10y

X0
0l

oJ

Y

0
0k

o0
ok

iR0

£ (Potassium Cyanide)

StOIEZ ALOI
151-50-8
100%

2+
=

by

[m]

(|
Ok
ol
0}

10f

T

D

ar

w0
Ok

oD

£ ZollA WAL, JIs0lE

=
FAI2 . A A2AIL.

3

2
[

[

ol

T

a)
0l
]

JH

[

HIAH

(2IAF)

!
Al

= Q=0

2= =52 %WAU A

ol
T

i
RD

I+

=

[

EeE

CEAl At

(S AF)
JIIF Y= ez |IIAIL

S
=

Al &2

=
=

Ho
0
Xl
<]

|l o Z=AI2

(A2 AES A2

ZTOEH SA o202
LA,

Ak
o



A2

o[
104
1ol
Rl
Kr

FHAI CHA &

4

o

ol

i

Ju

X0
1o

Ok

RO
uir

1

20
—

]
Kl

ol
0}

JFE AL EI10t

tg el AL

0o
<k
ioll

X0

i

o
o3
%

ol
%0
ol
o
00

X0

X0

T

)

o
o

%

ol
o

ol

1ol

oy
KIr
KD
KR
X0

oD

~
X0

I+

K
K
0

ok

2SHE HEGRL.

10l
0
zr

Ju

R IN;

A2

110
10y
4

P

IR0

OF
un

Kl

ol

o
ar

OtEZ F2IGtAI2

FAIL

1o

XA &

=
=

FoFHLE

2

ICHAH2IONA 2

S

FXH A

2

oa
AP DAl DHR ™

EH

10f
H

K
%0
K
K

1ol

Ell

0=
1o

ok

110
10f
H
i
=

oJ

FAIR .

b

OtLH D,

ClotAIL.

2, =0 =X

, I

[—
[

OG2AL.

00

10f
H

oF
<
KIr
Ol
o3
KJ
At}
Kl
oH

FAIL

=ESDN

OLAIL.
F

HXI

Z0|HLE S+

3

=

=

Jl

FAIL

=
=)

9

E6to

2= M
E=FE 0

EXIGHAI2

Al

ul

oJ
M

e

KO

Ul
0]

i
s
Kl
O

oF

OtAl2

E=0 UK

g 22U *

A
—

0 ot

1ol

Rr

b

G PION

=

=

JI0l =0l

=
S



FXI OHAI 2.

=] 3=}

1o

il

o=z tH

b Es HIA

70
I

A

(82 A)0ILE HIDt

d

o -

2

) 8

3

ol

~
KF

oF
s

b0

EH
=

MY

ok

A1
K

E|

GHAI2.
Mol A2AIL.

ol 3= AtEE [Holle HHU, OHAIAL

H

0

Ju
s
KJ

ol

=
=

FXI OHAI 2.

1o
),
oD

Ul

» oz B

o=
M=

g OF

S0= NS WHIIO

BRI &

|t

1E HESAIL.

K
K
0

|.

Ol

Fll

MSDS/ 2t

tXI OHAI 2.

1=/ MEU =236t AFE0tAIL.

=
=

FAIL

1o
ol
Kr

tOd
FAIR .

110
K
KO

i
10f

bl
0
K0
=
10
<]
oJ

GHAI2.

B el

I
3

o
=

T
oo

2

8. ==X

ulo
kK

m
il
H
&I
ol

i

m
il
H

Ol
=
]
ol
ol

;5 mg/m

TWA

=U+3
ACGIH ++&

o
53
lx

o
53
|lx

Kk
~
il
H
&l
ol

20

Ju
o)
Rl
KA

9]

kK

BHIOIE AtSotAU, Sll==s ==

4
fir

Al
RO
Rl

1

&I
ol
[0

1ol
Bl
zr

ki

SHAl X,

u
&

A

3

ol

A& HI 2F

SHl=

=
[a—

P

FAIR..

&I
ol
@

]

Jjo

il
H
J

il
H

Kl
0Kl
00

0=
[

10f
H

m
o[
10f

FAIL

&I
ol
]

1

X0
Jjo

il
H
JJ

.
o

il
H

oJ
Rl
KD

KM

Kl
1]
00

0=
[

10f
H

JH

ol



FAIR..

b2 ROl MetEHI2E HIAAMEEH (AR

RO
ol

e

Kr

&I
ol
]

1]

OF
R0

Ju
o

20
10

il
H
JJ

.
o

il
H

oJ
Rl
KD

KM

Kl
1]
00

0=
[

10f
H

<1

o

FAIR..

&I
ol
]

1]

OF
R0

Ju
o

20
1o

il
H

Ju

.
o

il
H

oJ
Rl
KD

Kr

Kl
1]
00

=
[

10f

o

FAIR.

X0
ur
Rr
ior

<)
Ok

-

Al %0
o1

4l

oF

KA

Y

<l
iop)

-

<0
I

& A

==

& Al

o
53
llx

& A S X

=

00

11.0 (0. 1N

634 C

RO
Ju

RO
Ju
Hr

1625 C

ok
10

RO
Ju

o
n

—_

(=]
RO
Ju

n

o
53
llx

=)
ol

o
53
llx

H
4

KIo

o
53
llx

15 mmHgMI A S AIECH

-

ol

~
Klo

1.35 mmHg @ 634.5 C
237 g/L @25 C

2.2

W
)

00

3
M0

H

~
Klo

1.55 (20 C)

0.35-1.07

o
53
llx

H

)
ol
3l

o
53
llx

A
0l
IS

[

o
53
llx

U
RO

65.11

ar

n0
K
Il d

X0
0l0
)
ok
X0
KO
oJ

00

%

ioll
0
X0
i
<|

0
Uir

WH
)

gl
T

ol
_J._

70
1o

ol
010
oJ

)

Ok
ol
X0
&0
oJ
Rr
ol
o}

22

Jtg el AL

%

ioll
0
X0

i

]



00
03
<k
ol
20
ol
o
0]
0

X0

T
JijS

0l

~
<D

HOF

3

2) 1

O
4

.

P

11
<

3

atAl, &k, O

3

<

ol

RO
i)

ILH 2

oD

ol
K
ol

iy
RO

10
1

R0

il
H

0l
i

20
1o

oD

iy
RO

70
o

Ok

-

n0
N

LD50 22.3 mg/kg Rabbit
LC50 0.063 /£ 4 hr Rat

LD50 7.49 mg/kg Rat

X0
W - = ol
X0 R0 RO D
Mo

o
53
llx

J
i
X0
<l
I+
I+
=

o
53
llx

JH

10l
0

o
53
llx

X0
ol
B

o[
10f

o o
53 53
n n
= =

7D

Y

H
X0 K/
ol ol
= X0 38D
IF o0 <
= ol

o
53
llx

DEESF A

| ARC
OSHA

o
53
llx

o
53
llx

o
53
llx

ACGIH
NTP

o
53
llx

o
53
llx

EU CLP

o
53
llx

o
53
llx

70
r

T
%0

o
53
llx

Rr
H
RO
uir

o
53
llx

)
H
Hr

oJ

70
Uir

KO
Rr
=8

RO
uir

o
53
llx

X0
1o
s
ol
oD

70
Uir

20

LC50 0.15 mg/ ¢ 96 hr

LC50 0.113 mg/ £ 96 hr
EC50 0.116 /£ 72 hr

I
Ar Uk
Al KA

70
B
10

ok

70
s
KJ

o
53
llx

70
Uk

KJ

o
53
llx

X0
IS

[



70
Hr

0Kl

20

log kow -0.252 (20 C) (ECHA)

70
o
10

20

HIJIAl F=2ArS

13.

JIE HDISHAIZ.

010
ok

1]
00

&0 et W

1) HOgY

ciGtAI2

2) HIJIAl F=2/At

RO
i)

gl

40
OH

(D) (POTASSIUM CYANIDE, SOLID)

=
=)

b

2
=

=iy

3

(0]
[}

1680
6.1

A

o
1

Ol A 2l

=
=]

o
[

i
00
o

1

0B
Ju

.
o

0
0B

~ o~ o~ o~ o~

F-A
S-A

FXHAL HI&F
HE M S

15.

D B6ME)

=D

KIr

KU
i

<0

RO

KIr

I
5D

e

Kr

T A

=

ol 2l

D120HE)

Jl

t

Kl
OHI
RO
Rl
Kb

~
U

ur H

Kl
0K
Hr
Ok

T+ Al

=

2telgol 2

|
=&

ol
o}

o
53

e

00

T A

Holl 2t

AR gat

=Rty
2telgol 2

3) @

NEHII=S

T Xl

=

0l

4) M|

AN

S
=

5) JIEt =W 2 2=-o0ol <
= WA

o
&3

00
)

il

1l
B
O
30

OF
70

KJ

o
&3

00
)

OSHA &)
CERCLA 77 &)

4.53599 kg 10 Ib
45.3599 kg 100 Ib
4.53599 kg 10 Ib

EPCRA 302 &)
EPCRA 304 &)
EPCRA 313 &)

o
&3

00
)

o
&3

00
)

o
&3

00
)

— — ~— ~— ~— ~— ~— ~—



0o
5

00

0=
[

0o
5

00

0=
[

0o
5

00

0=
[

1|7
Kl

16. JIEt 310X=E

Kl

o0

RO

-

0

0
4

sl

<]

H
%0
RN
Ok
ol
0}

o0
ol

70
I
Al
rr

1996. 05. 02.

2qAX; -

X0

X+
A

K]
E

oll
RO

Kio
T
ol

3
o
RO

1 2020. 06.01

HE LI

=
=)

E

10

10f

T

bl
RO

Ju

o 8=

= ¥sLIth

CZ AN 2HGHA

5

=

KIS0l CH

10
1

=
10f

SLUICH

oF
s

2 ==& 2A20A SHEX

X



